

Public Access System

Electronic Filing Cover Sheet

Note: Please print this page and use it as a cover sheet. Type the fax audit number (shown below) on the top and bottom of all pages of the document.

(((H07000223672 3)))



1070002236723ABC\$

Note: DO NOT hit the REFRESH/RELOAD button on your browser from this page. Doing so will generate another cover sheet.

Tor

Division of Corporations

Fax Number

; (850)205-0381

From:

: C T CORPORATION SYSTEM Account Name

Account Number : FCA000000023

Phone

; (850)222-1092

Fax Number

: (850)878-5926

FOREIGN PROFIT/NONPROFIT CORPORATION

Madison Marquette Leasing Inc.

Certificate of Status	0
Certified Copy	0
Page Count	05
Estimated Charge	\$70.00

Electronic Filing Menu

Corporate Filing Menu

Help

820222497

https://efile.sunbiz.org/scripts/efilcovr.exe

19:60 4002/40/60

APPLICATION BY FOREIGN CORPORATION FOR AUTHORIZATION TO TRANSACT BUSINESS IN FLORIDA

IN COMPLIANCE WITH SECTION 607.1503, FLORIDA STATUTES, THE FOLLOWING IS SUBMITTED TO REGISTER A FOREIGN CORPORATION TO TRANSACT BUSINESS IN THE STATE OF FLORIDA.

	oration; must include "INCORPORATED, ,* "Inc," "Co," or "Corp.")	COMPANT, CORPORATION,	
(if name unavailable	in Florida, enter alternate corporate name	adopted for the purpose of transacting business	in Florida)
2. Dolawero	3		
~	er the law of which it is incorporated)	(PEI mumber, if applicable)	
4 6/27/2007	4	Perpetual	
(Dete of	incorporation)	(Duration: Year corp. will cease to exist or "	perpetual")
6 .			
		n Florida, if prior to registration) 502, F.S., to determine penalty liability)	 _
7. 2001 Peansylvania A	venue N.W., 10th Floor Weshington, D	O.C. 20006	
	(Principal office add	teat)	
2001 Pennsylvania	Avenus N.W., 10th Floor Weshington, I	D.C. 20086	
	(Current mailing add	reds)	
8. Real Estate Manager			13 SE 100
(Purpose(s) of	corporation authorized in house state or oc	numbry to be carried out in state of Florida)	THE ENT
9. Name and street ac	idress of Florida registered agent: (P.C). Box <u>NOT acceptable</u>)	
Name: _	C T Corporation System		AHASSEE
Office Address:	1200 Sootk Pine Island Road		TA D E
_	Plantation	92924	STATE STATE
		, Florida	<u>2</u> 2 ω
	(City)	(Exp code)	
10. Registered agent			
Having been named	is registered agent and to accept servi	cs of process for the above stated corporat	ion at the place
uesignates in ins epp Nurther serves to com	uicanon, i nervoy accept ine appoints oly with the provisions of all statutes r	vent as registered agent and agree to act is clative to the proper and complete perform	i inter capacity. 2 iance of my duties,
	th and accept the obligations of my po-		
	C T Composition System	March Britishman	
_	11001151	Vice President and Assistant Secretary	
By:	I we kee		
	. (Registered agent's signature)		

PAGE 02/05

12. Names and business addresses of officers and/or directors:

PLATE - MANUFACIO C Y Ayester College

A. DIRECTORS Chairman: Amer Hammour Address: 2001 Pennsylvania Avenue N.W., 10th Floor Washington, D.C. 20006 Vice Chairman: William D. Anthony 2001 Pennsylvania Avenue N.W., 10th Floor Washington, D.C. 20006 David Brainerd 2001 Fennsylvania Avenue N.W., 10th Floor Address: Washington, D.C. 20006 Director: Gary F. Mouola 2001 Pounsylvania Avenue H.W., 10th Floor Washington, D.C. 20006 B. OFFICERS President: Please see attachment Address: Vice President: Please see attachment Address: Secretary: Please see attachment Address: _ Tressurer. Please see attachment NOTE: If gecessary you may attach an added dum to the application listing additional officers and/or directors. (Signature of Director or Officer listed in number 12 of the application) Paul Andrews, Vice President

FLATS - EXCLUSION C T System Outles

(Typed or printed name and capacity of person signing application)

Addendum to Application for Authorization to Transact Business in Florida Madison Marquette Leasing Inc.

NAME AND ADDRESSES OF ALL CURRENT OFFICERS

Amer Hammour	President	2001 Pennsylvania Ave. NW, 10 th Floor Washington, DC 20006
Gary F. Mottola	Executive Vice President	2001 Pennsylvania Ave. NW, 10 th Floor Washington, DC 20006
David C. Brainerd	Vice President	2001 Pennsylvania Ave. NW, 10 th Floor Washington, DC 20006
William D. Anthony	Vice President	2001 Pennsylvania Ave. NW, 10 th Floor Washington, DC 20006
Paul Andrews	Vice President, Secretary and Treasurer	2001 Pennsylvania Ave. NW, 10 th Floor Washington, DC 20006

FILE D

2001 AUG - 7 P U: 3U

SECKETARY OF STATE
AND ASSECT FINDINA

PAGE 04/05

Delaware

The First State

I, HARRIET SMITH WINDSOR, SECRETARY OF STATE OF THE STATE OF DELAWARE, DO HEREBY CERTIFY "MADISON MARQUETTE LEASING INC." IS DULY INCORPORATED UNDER THE LAWS OF THE STATE OF DELAWARE AND IS IN GOOD STANDING AND HAS A LEGAL CORPORATE EXISTENCE SO FAR AS THE RECORDS OF THIS OFFICE SHOW, AS OF THE SIXTH DAY OF SEPTEMBER, A.D. 2007.

AND I DO HEREBY FURTHER CERTIFY THAT THE FRANCHISE TAXES. HAVE NOT BEEN ASSESSED TO DATE.

4379803 8300 070992824



Harriet Smith Windsor, Secretary of State

AUTHENTICATION: 5981017

DATE: 09-06-07